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Examination, December 2017
LAW OF EVIDENCE

Instructions : 1. Answer Q. No. 9 and any five of the remaining questions.

Q. No. 1.

Q. No. 2.

Q. No. 3.

Q. No. 4.

Q. No. 5.

2. Q. No. 9 carries 20 marks and the remaining questions
carry 16 marks each.

3. Answers should be written either in Kannada or English
completely.

Define Evidence. “The rules of evidence are in general, same

in civil and criminal cases” — Explain. Marks :
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Explain the relevancy of the facts forming the part of same

transaction. Marks :

worde ;%d’saddq_, PRACIRATS Rondny #oﬁow%ioﬁoﬁi DIOA.

Define Admissions. State the persons whose admissions are

relevant. Marks :
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What is dying declaration ? What are the conditions for its

admissibility as evidence ? Marks :
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“Oral evidence must in all the cases whatever be direct” Explain

with exceptions. Marks
“IPDE Mo, cdRFTe BESea0d Sedson QT
BTERTRON ES0R.
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Q. No. 6.

Q. No. 7.

Q. No. 8.

Q. No. 9.

Define Estoppe!. Explain the various kinds of Estoppel.
DUOGT), F,ET,DA. DTS DG TFONIRY, WO,

What are leading questions ? When they can be asked ?
030 BRwE g’q{dodﬂeab ? e[InI, odneen FeduEnd ?

Short notes :

Write short notes on any two of the following :

s QTHE, OFO £33p8 208000 :

a)

b)

c)

Answer any two with reasons

Confession by co-accused
ReeBneod PRI

Public document
TOTF BT TR

Professional communications.
qgadd Beosnsh.
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a)

b)

c)

Ais accused of a crime. It is shown that soon after the crime
he is absconding his place. Is this fact relevant ?
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The question is whether A was the legitimate son ofB?ls
the fact that A was always treated as such by the members
of the family, relevant ?
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A is charged with travelling in a railway without a ticket.
A denies the charge. On whom the burden of proof lies ?
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Marks : 8x2=16

Marks : 10x2=20



